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Instruction for Question Nos. 21 to 25 :

Read the following passage carefully and answer the following questions that follows

Education is a device for helping a man to grow to his full stature. It enables him to realize his nature both mentally
and spintually and in that realization to become gl thathe has itin himto e |t is to the child what perfect gardening
510 the tree. a help so to grow that it may develop Its own persenality. A goad gardener helps each plant ta put
forih that essential quality of its own that differentiates it from all other plants and makes it a thing of use and beauty
n the world. The good education performs a similar office for the human baing.

To fne man ef trained faculties and developed tastes the world becomes literally a larger place, larger and the mere
exciling. He s able to see in it more beauty, more variety, more scope for his sympathy and understanding than
he saw before. So far as the understanding of the universe is concerned while education ciminishes cerainiy of
what s, it widens his sense of the possibilities of what may be and transforms the world from humdrum seena of

WE”ESI'IUPI fa':tﬂ!"’ and office to a universe of mylstﬂni and treasure house of beauty

22 \Whatan educated man is able to see in ne worid ?
{a) Mountains, hills and bushes

21 Education enables a man

{a) To realize hi nd spirtually '
lize his nature both mentalty and sp (b) Roads, meadows and inns

%) To become a gardener (c) More beauty, more variety, more scope for s
sympathy and understanding than he saw pefore

{€) To be phygimlw strong
(d) Rivers, lakes and rocks

{d) Te become a successful person
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23 The passage "universe of mystery and a treasure

24,

25

26

27.

house of beauty” means
(3) Helping & man to develop the best in him
(b) Universe full of mysterious and beautiful things
(c) Education of universe makes a man wise
and beautiful
(d) Education of universe makes him bounteous
and large heared

What is the work of a good gardener ?

(a) To help each plant to take water

(b) To help each plant t¢ put forth the essental
quality of its own

{c) To help each piant o grow

(d) To helpeach planl o be green and healthy

The world becomes a larger place and the more

exciing

(a) For a wrastler

fb) Fora thief

(c) Fora cneat

(d) For a man of trainad faculties and developed
tasles

In the sertence, 'he finished the job at one Jo,
the word 'go’is

(a) Verb

(b) Noun

(c) Adverb

{d) Adjective

Change the sentence "l never eal meat, he
explained” into indirect speech.

fa) He explains that | eat meat

(b) He explained to eat meat

(c) He explained that he never ate maat

(d) | explained that he never eats meat

28

a0,

31

32.

33

35

Which of the following word is wrongly speit?
{a) Correspondence L
{b) Consciance

{c) Orcurrence

(d] Canvanainca

Change the senterce “let it be done at onca” into.
active vaice

(a) Let it happen at once

(] Do it atleast once

ic) Let t cocour at once

(d} Do it at ance

Punctuate the following sertence
“Whatewer s is right”’

(2 Whatever is. s right 7

k) Whatever Is s nght

(c) Whatever Is, |5 right

(d) Whatever, i, 15 rignt

Choose the correct conjunction from the foliowing
pptions to compiete the sentence

"He got

(&) Wntil

(b] Becauss
i) Although
(d) It

he was ill".

“White alephant’ means

{a) Arare object

(k) An uneconomical possession
1) An object that does not exist
(d) A useful possession

Choose the correct synonym of the word
‘abominable’.
{a) Disgusting
{b) Cold

(o) Abusive
(d) Hot

'In the pipeline’ means
(a) In the process of being de
(b} Partake
(c) Pinnacle
(d) Prions
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(o) 4km

which of the following is NOT an interpersang)
parrier in grganizational communication ?

(&l Emnmntdsm

(b) Semaptlcﬁ

(c) ingratiatian

(d) |mpression management

Highest degree of communication cpenness is

nd in .
f:rlnfurmal communicatian
b} Meta-communication

¢} Direct gcommunication
{:ﬁ Indirect cammunization

Which one of the following behaviour is the moest
appropriate for diffusing verbal abuse of co-workers 7
(a) Become defensive

(b) Get into debate

(c) Refuse 10 accept harmful language

(d) Keep aggressive body language

‘Proxemics’ is related to

{a) Neutral Communication

{b} Unidirectional Communication
() Verbal Commurication

{a} Non-verbal Communication

The key element for effective interpersonal
communication is

(a) Abstraction

{b) De-sensitization

{c} Active listening

(d) Ego-centric reinforcement

Which cne of the following is related with
organisational ecology ?

{8) Centralized Communication

(b} Upward Communication

{c) Lateral Communication

{d} Downward Communication

Smita reckoned sixteenth from the top anc
E-.wmh"l"nmm from the bottom among those who
n:{ve passed an examination. Six students did
it. appear in the examination and five failed in
(a) 40 many students were there in the class ?

(e) 50 (b) 44

Ravi (d) 55
Vi started walki .
8 ﬂia:a;nge ,:,ram"’i towards East. After meving

. OF 1 km, he turned Southwards and
gﬂ:ﬁfﬂ? Again he turned to East and walked
9 km. How 111;!"? tumed 1o the North and walked
@) 7 kry "1s he from his starting point ?
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44 Which one of the following diagrams properly

45

46,

47.

represents the relationship among ‘Body', ‘Ear’,
‘Mouth' ?
{s}] @
(D

Fourmen A, B, C, D and four women W X ¥ Z
are sitting around a table facing each other |f
i. No two men or women are sitting together,
ii. W is to the right of B.
iii. Yis facing X and is to the left af A,
v Cistotherightof 2.

Then who are the two persons sitting adjacent
toD?

(a) Wand Y
(c) Xanc Z

(al

(c)

.@

(B} Xand W
(d) WandZ

In a certain code, 15789 is written as XTZAL
and 2346 is written as NPSU How will 23549 ba
written In that code 7
(@) NPTUL
{c) NPTSL

(b) PNTSL
(d) NBTSL

Find the missing number in the following figure :
04 0s 06
0z 03 a7
01 08 03

21 | @8 ?
(@) 54 (b) 88
(c) 92 (d) 86

Which one of the following refers to the framing

effect in the context of decision making 7

(8) The way in which options are presented
influence the selection of option

(b} Choosing the option having highest
expected utility

e) Akind of set points of thought in wrong

direction
(d) Looking for evidences that will confirm what

~ are currently believes
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, tendency Of members in a higp,
The’ o lose critical evaluative degig;

ﬁ;ﬁg capabilities is called

eoheﬁhl'a
an

.\ Group pola rization
{S} Cognitve dissonance

The decision making style thE'II"'DU'ErIy concemag
aith keeping everyone Nappy” is called

(a) Conceptual style

ib) Directive style

¢l gehavioural style

id) Analytical sty'e

\hich one of the following s NOT a ule furas‘drnaﬁng
the likelihood of outcomes of any decision ?

(a) Assessing utility (b} Representativensss
(c) Availability (d} Adjustment

in a valid standard form of categarical syllogism,
if predicate term is distributed in the conclusion,
then it must be distributed

(g) in both the premises

(b} in mincr premises

() in major premises

{d} in none of the premises

Probability is an attribute of
(8) An inductive argument
(B) A deductive argument
(c] Disjunctive proposition
() Categorical proposition

E“E ot the following decision makers are tend

the Brghlumgt?dlmwanng creative solutions to

}g. N',I";I'v'ﬁ!f' Style decision makers

Vic style decision makers

181 Concepta) is|
| Bﬂhmummle decision makers

style decision makers

What ny
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___.cigBsmother, D'is C's father,
' "-tnﬂ. ﬂ:l" then how is Arelated to D ?

sD's T
" ~eandfathe ddaughter
Grandfather (b) Gran
e (d) Daughter

ers from 1 to 100,

AU AN j T b
If you write down all the numper
H:T how many times do you write 3 7
(a) 20 (b 11
(c) 21 (dy 10

Choose the odd pair of words -
(g) Volume : Litre (b) Pressure : Barometer

(¢} Length : Meter (d) Resistance : Ohm

Read the following statements -
|. Rama is older than Sonam.
Il. Pognam is older than Rama.
Ill. Sonam is cider than Poonam.
If the first two statements are true, then the third
statement is
(a) True
(c) False

(o) Uncertain
(d) Nene of the above

Complete the following series with the correct
option

3,26 8 18, 40,7
(a) 70

{c) 72

{6) 71
(d) 75

A shopkeeper marks the price of an article 20%
above its cost price. He offers some discount on
the marked price and gains a profit of 8%. Rate
of discount is
(a) 8% (b} 10%
(d) 15%

ﬂ"“ MT";-_ ‘f' means 'x', 'x' means ‘+' and +'
~ Mmeans '~ then 6+ 10 — 4 x12+6=7

(b) 32

56.
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zets A has 10 members ang
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- @ ty1n (a) 20 (b) 18
e} 17 (d} 21 (c) 17 d) 21
BR. Whichone ofthe following 1s 2 paralinguistic cue gs e nd Sl HEET] ﬁmﬁaﬁag %
in communication 7
(a) Facial exprassion (a) FaTEda 3 .
{b) Gesture (k) &=-HTa
(¢} Tonal pitch (o) = wEER &
(d) Posture (d) ST
89, Inwhich type of Gommunication network there is | 6% i TR I e W Hﬂ@%ﬁﬁ%aﬂ%ﬁlﬁm
" ikalinood of emergence of & §roup leader but lower P Ll i THE &
‘satisfaction ameng the member of the group 7 B A 7
() Wheel type (b) Circle type (a) T EW W (b) FATHH YR
{ﬂJGhmnwpe (d) Barred fype (e »{@'@Twﬁi‘r (d) wﬁamﬁ
'@- choithe olovingis an examplecforganisatonel | 70 b & - S W A
“‘*UMTH communication 7 Wﬂﬂﬂ U:ﬁ:{mmi
(b) Delay (a) faﬁ (b) T
(d) Lack of response e y P (d) ﬂﬂﬁﬁm W A
. ﬁmﬁﬁﬂ 520 e T o A R T

5 following is NOT a form of positive
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78
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77

78.

8.

nication process, successiul
sage can be checked through
(b) Medium
(d) Passive decoding

In the commu
transfar of Mes
(a) Encoding
(c Feadback

Cmssdepartmental Commiltee
(a) Optimum Ccmn"unmqtmn
(b) Upward Cammumca’_ﬂon.
(¢c) Downward Communication
(d) Lateral Communication

Aman pointing to 3 photod raphsays—"Thelady ir the
photograph is My nephew's matemal granc-mother”
How is the lady in the photeg raph related to the man's
sister who has no other sister 7 She s

(a) Cousin () Sister-in-iaw

{c) Mother {d) Mather-in-law

Find the correct altermative frem the following
Ocean : Pacific: . Island | 7

(a] Greenland (b} Ireland

{c) Netherland {d) Borneo

s are the form of

Amange the following in a ‘egical order |
1. Frog

2. Eagle

3. Grasshopper
4 Snake

5. Grass

(@) 1,3,5,2. 4
€5 3,142

(b) 3,4 251
{d) 5,34, 21

Amonkey climbs a 12 meters high slippery pillar,
In his first minute, he climbs 2 meters and in the
next minute, he slips one meter down. In this way,
how much time will he take to reach the top of
the pillar ?

(@) 10 minutes

{b) 21 minutes
(¢) 12 minutes :

(d) 11 minutes
Find the number of triangles in the following figure

(a) 12

(c) 14 (b) 13

(d) 15

74
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77
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(b) wrem gm
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4, 1M

5. HTH

(a) 1,352 4 (b) 3,4 251
{€)5,3,1,4,2 (d) 5,3, 4,2 1

U et 12 et 32 fow o w g b | e
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H3 frmer e B | @ A 9% B T e

& ik v wda a7

(a) 10 forre (b) 21 fire

(c) 12 fimz (o) 11 fime
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(a) 12 (b) 13

(c) 14 (d) 15
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g MeichieList|WID e = anc selectthe carect
9 answer

using the codes given below the list
“List -1 . LLJ|511_||
_All men are mantal. . Universal negat
A No man are P&rfed. 2. Particular negat;::

" gome students 3. Universal
" gre intelligent. affirmative
p. Some farmers 4. Particular
" gre not rich. affirmative
es :
s ¢ D
{b:l- 2 4 1 3
i t C
g1, The process of judging some problem situation

g83.

on the basis of its similarity with one encountered
earlier, is known &s

a) Anchoring heuristics

b) Heuristics of representativeness

(c) Adjustment heuristics

(d) Availability

\Which one of the following sometimes hinders
the problem solving ?

(a) Heuristics {o) Mental set

(c) Analogy (d) Algorithms

\Which of the following decision making style takes
longer time ? _

(a) Analytical style (b} Behavioural style

(¢) Directive style (d) None of the above
The proportion of various sectors in a pie chart

is directly proportional to
(a) Perimeter of sectors
(b) Angle of sectors

g) Area of sectors

(d) None of the above

Mode of the observations 10, 11, 16, 17, 12, 13,
17,16, 16, 12, 1610, 15, 16, 10is

it (b) 15

(€)1 (d) None of the agbove

Tha ;ﬂ_"am use of 'definition’ s to eliminate

E?'l’ggmlhmﬂ (b) Rules of grammar
() Meaning (d) Ambiguity

”ﬁﬁ&% dard form of categorical syllogism
3 particular eonclusion and two universal

81

B2,

B83.

84.

85,

BE.

g7, el

:

7
4234

g fJoom>
_‘,._.ﬁg

——
o

—r
Md

fc) 4
(d) 3
et g <) fewrfn o
H wEEE & s 91
(a) wume =Y

(b) Wit =1 =g
(c) Hfrem =Y

(d) Iuesaurdl
Wﬁﬁﬁﬁﬁ*ﬁﬂﬁﬂﬂﬁﬁ

Fft -} Ty TeT A 8 7

(a) Ty (b) HHE 4=TH

(c) g (d) TETeER

Preffim ke & B & fermi o GG T B 7
(a) faverammens fi= (D) AR T

(c) Fmers fet () I A A w0

o 4 o & faftr grevel @1 e wega

o= 50
P A S e

& a1 T wEE
&1 v = F=E B

(a)
(b) FEEUE F Hoi &
(c)
(d)

St 40, 11, 16, 17,42)43) 17, 16, 16.(12, 16,

[0, 15, 16. (10 1 WEET @
FE] 13 (b 15, i o
(c) 16 (d) I F A ¢ TE

s e “wfr o) g TRERIR 2
(@) fw TR H (o) S B
(c) ¥4 * (d) wigwa %

fyfire @ U6 G SR ST FEEAT 8,
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| | ﬁ: -mmm nurrtﬁr l:?] in tha-fulluwlng Seres

ml:_r‘m ‘g0 270, 7. 405 IS

(a) 675 (b) 540

(c) 360 (d) 135

The age of father is twice that the sum of ages
of his two sons. 20 years later, the age of father
will become the sum of ages of his ftwo sons. The

present age of father is
{a) 40 years (b) 60 years
{c) 30 years (d) 50 years

Complete the sequence with the carrect option
from the following codes :

EGIK: FILO : ! FHJL: ?

{a) JGMF (b) JGPM

(c) GJPM {d} GJMP

How many 4's are there in the following which
are preceded by 7 but NOT followed by 2 2
99321 T426874613287413832586
T43958B201874863

(a) Four {b) Three

(e} Six. (d) Five

In a row of boys, if A wha is 10 from the lefi
and B whoiis 9" from the right, interchange their

positions, A becomes 15 from the lefi. How
many boys are there in the row ?

)24 (b) 31
{c}_.:ﬂ {d} 28

sequence

3 Arval

BE.

Be.

2.

g2

93

60, 180, 90, 270, 7. 405 ¥ o™ HE

(a) 675 (b) 540 il
(c) 360 (d) 135 _
foret 1 31g FEh 2 A1 B A F A
3 1 20 § v T 1 579 26 o §
o & wuat g A | S e
(a) 40 @ (b) 60 =4

(c) 30 = (d) 50 =4
et g2 g4 1 € wE fawe gm
ot A

EGIK FILO::FHJL : ?

(a) JGMP (b} JGPM

(e) GIPM (d) GIMP
faniferfian # Frel T8 4 B fovs mest 7
o H 3T 7 !
593217426974613287413
74395820187463 [
(a) TR (b) 7

e = (d) 1=

STea 1 o dlan A Atz A, 4 s g
T & 3 B I H 99 T WR, AR
BE D AT H wew ot B, Al Awid
T R B AR | SR | e e

(a) 24 (b) 31

e @ 2

19 fon i et 4t e 5 etorn
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99,

100,

E The Vizsion

E Two trains of length 127 mt. and 98 ¢ et
] |

in opposite directions with speed 135 RAhE E"Q
55 km/hr respectively. After meeting they :ﬁ
oross each other in |
(a) g seconds
{c) @ seconds

(b) B seconds
(d) 10 seconds

i+ ‘1’3 =35and xy =6, x>y then value of

(x=y) will be
(@)1 =
(c) 3 (d) None of the above

If (x— 1) and (x + 1) are two factors of the
polynomial ¥% — 1, then its other factors are

@ &+ 1), (xZ + %X + 1)
(o) (x + 1), (x* =x—=1)
(o) (€ =x+1) (x* ¥ x+1)
(d) 0 =x=1), ¢ +x—=1)

Arectangular field is 112 mt. longand 62 mt broad.
A cubical tank of edge 6 mt, is cug at each of the
four corners of the field and the soil so removed
is evenly spread on the remaining field. Find the
rise in the level of the field.

(a) 1313 cm (b) 11.9cm

(c) 127 cm (d) 14.24 cm

The radius of a solid sphere of a metal is

3 ¢m. How long wire of diameter 4 mm can be
drawn from it 7

(a) 8.8 mt

(b) 9.0 mt
{c) 9.6 mt,

(d) 9.1 mt

Seventeen candidates appeared in an
examination The marks of the candidates who
falled in the examination are 10, 9, 6,7, 8.8. 7,
5,4 6 The median of marks of all seventeen
Candidates is

(a) 6

(b) 7

(c) 9

{ﬂm“'“ﬁf the above

085,

B

9

98.

99.

100.

1271t 30 08 et el 2) TETEA e s
i S 35 . e S5 A G R wm A
Mok B | et % fe T R A TR

W = St 7
(@) B Have
(c) §#FHvs

(b) B HHIE
(d} 10 HF0E

7fe 3 4 y3 = 35 3N xy =B, x>y ™ (X-y)H
T Fm
(a) 1
(c) 3

b) 2
(d) TodEm B B S A

qﬁa@axﬁ_ﬂm:ﬁwu-ﬂﬁ

(x +1) 2, At IFH ¥ AT #

(@) (x2+ 1), (2 +x+ 1)

(b) Qx2+1}l{x3-x-1'l

(c) pR—x+ 1), (x2+x+1)

(d) 2 =x—1) (+x-1)

v s @ % w112 f. T e
Ezﬂﬁ,%mm.faﬂﬁmﬁﬂ:mh@ﬁ%aﬁ
Ft w @ s o frg werd R 3@ WS =
e e T T | G R AR

(a) 13.13 % (by 11.9 8

() 12.7 &t (d) 1424 T

forelt g 3 e B et 1 e 330 R | 9
4 Senft = = Fere e AT Wi W E &
(a) 8.8 /X (b) 9.0HA

(c) 9.6 (d) 9.1 WX

xS Pet ofte i et g 1 o el
iy i FEEE €Y 3 W 10,9.6,7.8,8, 7.5,
4 6% | et T T ¥ T B e
(a) 8

(b) 7

(c) ©
(¢) 3 A B B
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